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ZVS Zero Voltage Switching
ZCS Zero Current Switching

COT SW ZVS

SIDO : Single- Inductor Dual- Output
COT Constant ON Time
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F=100/7=14kHz

1.15V 2.0dB @200kHz
0.5 V   ( 6.4dB) @1.0MHz

LPF
( )

PLL
100kHz

SAW
Vref
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(3) M

N= P = 5,040 

( ) 

16

M

) - - - - - - -

Q1 - - - - - - -

Q2 - - - - - - -

Q1Q2 - - - - - - -

Q3 - - - - - - -

Q3Q1 - - - - - - -

Q2Q3 - - - - - 2 -

7 - - - - - - -

Modified period (8To) Basic 
period:To 2.0V

50mV
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96 = 672 

0.2 V [/3.15]     ( 12.0 dB) 
8 mV[/650mV]  ( 19.1 dB)

13 mVpp

M

) Q1Q2Q3 - - - - - - -

) Q1Q3Q2 - - - - - - -

) Q2Q1Q3 - - - - - - -

) Q2Q3Q1 - - - - - - -

) Q3Q1Q2 - - - - - - -

) Q3Q2Q1 - - - - - - -

M- Sequence
(3- bit)

8To

Bit Inverse
(Fig.14)

Bit Exchange Matrix

(X 8)

Counter

(X 6)

Output
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B)

Vi=12V, Vo=5.0V, Io=0.5A

Fck=200 kHz

Vm= 0.5V,Fm=2 kHz 

Fck

PWM 3.2V 0.45mV ( 17dB)

Iin 320mV 45mV ( 17dB)

1 MHz

PWM 60mV 10mV ( 16dB)

Iin 6mV 1mV ( 16dB)
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